



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$(2 - \frac{2}{3})^2 - \frac{1}{6} \times 5^2 - \frac{1}{6} =$$

$$(5 + \frac{2}{5})^2 + \frac{1}{2} - \frac{1}{2} - 2^2 =$$

$$(\frac{1}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{3} - (\frac{1}{3})^2) =$$

$$((\frac{1}{3})^2 - \frac{1}{3}) \times \frac{1}{3} + (\frac{2}{3} - \frac{2}{3})^2 =$$

$$(\frac{1}{2} + \frac{3}{4})^2 + \frac{2}{3}(\frac{3}{2} + (\frac{1}{3})^2) =$$

$$(\frac{3}{4} + (\frac{2}{3})^2) \times \frac{2}{5} - (\frac{3}{5} + \frac{1}{6})^2 =$$

$$(5 + \frac{2}{3})^2 + \frac{3}{5} + 5^2 + \frac{1}{4} =$$

$$((\frac{1}{5})^2 + \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{5} - \frac{3}{5})^2 =$$

$$(3 + \frac{1}{2})^2 - \frac{3}{4} - 4^2 \times \frac{1}{6} =$$

$$(\frac{1}{2} + (\frac{2}{3})^2) \times \frac{3}{4} + (\frac{1}{3} + \frac{3}{2})^2 =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$(2 - \frac{2}{3})^2 - \frac{1}{6} \times 5^2 - \frac{1}{6} = (-\frac{23}{9}) = (-2\frac{5}{9})$$

$$(5 + \frac{2}{5})^2 + \frac{1}{2} - \frac{1}{2} - 2^2 = \frac{629}{25} = 25\frac{4}{25}$$

$$(\frac{1}{2} - \frac{1}{3})^2 - \frac{1}{3}(\frac{1}{3} - (\frac{1}{3})^2) = (-\frac{5}{108})$$

$$((\frac{1}{3})^2 - \frac{1}{3}) \times \frac{1}{3} + (\frac{2}{3} - \frac{2}{3})^2 = (-\frac{2}{27})$$

$$(\frac{1}{2} + \frac{3}{4})^2 + \frac{2}{3}(\frac{3}{2} + (\frac{1}{3})^2) = \frac{1139}{432} = 2\frac{275}{432}$$

$$(\frac{3}{4} + (\frac{2}{3})^2) \times \frac{2}{5} - (\frac{3}{5} + \frac{1}{6})^2 = (-\frac{11}{100})$$

$$(5 + \frac{2}{3})^2 + \frac{3}{5} + 5^2 + \frac{1}{4} = \frac{10433}{180} = 57\frac{173}{180}$$

$$((\frac{1}{5})^2 + \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{5} - \frac{3}{5})^2 = \frac{11}{100}$$

$$(3 + \frac{1}{2})^2 - \frac{3}{4} - 4^2 \times \frac{1}{6} = \frac{53}{6} = 8\frac{5}{6}$$

$$(\frac{1}{2} + (\frac{2}{3})^2) \times \frac{3}{4} + (\frac{1}{3} + \frac{3}{2})^2 = \frac{293}{72} = 4\frac{5}{72}$$